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1. What is the derivative of the function

flz)=

‘ sin (1) e
b) f('r)7 (cos () + sin (y)

’ sin (x) cos (y) + cos (x) sin(y) + 1
(z)= =
(cos (x) +sin (y))

’ sin(x)cos (y) +cos (x)sin(y) + 1
C Ir)= .
1) f'(x) (cos (£))? + (sin(y))?
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2. Identify the three functions f, g, h in the composite function

u(t)=(fogoh)(t)= f(g(h(t))) =cos*(t? +1).

a) f(z)=t4, g(x)=cos(t), h(t)=t2+1.

@ (z)=x4, g(x) = cos(x), h(z) = 241,

c) f(t)=cos(t). g(t)=1t% h(t)=12+1.

d) f(u)=u*, g(v)=cos(v), h(z)=t*+1.
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3. Find the derivative y'(z)
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of the function y(z) defined implicitly by

T d
cos(y®) +x=a",a>0. i_ l C‘D%z) X 'K = a;- qul ‘_—b
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t is moving vertically according to the distance function s(t) = % — 8§t% — 12¢ — 3. Determine
the interve

vals over which the

object is moving down.
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1. What is the linear approxim,

a) L{r)=In(z)+1.
b) L{x)=xln(zx).

c) Liz)=1-uz.

@L{.r'} =ur.

L6)= B (-0 80

A-Qdvy=
ation L{r) of f(r)=xln(z)+ 1 near r=17 &(&) = k k \ \
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c) Liz)=1-uz.

@L{.r'} =ur.
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2. What is the plot of the function f(z)=e *sin(z)? Provide a brief motivation.
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3. Find the anti-derivative F'(z) of
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